(a+b-3)(a-b)E A7|stA?

® a®>-b>-a+3b @ a>-b*>-3a+0b
® a®>-b*>+a+3b @ a2-b2-3a-3b
@aQ—b2—3a+3b

(a+b-3)(a-b) ={(a+b)-3}a-b)
=(a+b)(a—b)—3(a-b)
=a?>-b%>-3a+3b




(2x+y—-2)(3x+2y+4) & A7Ncto] 7hs] 1S o, xy o] Alg=?

@ 5 @ @) @ 8 ® 9

AN o xy ol dee -9t Alts B 2xx2y+yx3x =
Txy

weba xy o] Age 70l




3. (x=1)2-(2x+1)(x-4) =Ax? +Bx+CL W, F+ A, B, C 9
A+ B+C9 #H2?

D 6 @7 ® 8 @9 ® 10

B

x=1)2 - (2x+1)(x—4)
=(x*-2x+1)—(2x2 - Tx—4)
=x2-2x+1-2x>+7x+4
=-x2+5x+5

A=-1, B=5 C=5

L A+B+C=-14+5+5=9




D 3x2+3xy+y> @ 3x2+6xy+y2 @ 9x? 4 3xy +y?

@D)Qx2 +6xy+y> @ 9x2 + 9xy + 2

(Bx+y)? = (3x)2 +2x3xxy+y?
= 9x2 + 6xy + y?




(—4x-5)? & ZNsH?

@D -8x2-20x-25 @ -8x%—40x-25
® 16x2 +20x + 25 @16x2 +40x + 25

® 20x> +10x+5

(=4x)% + 2 x (=4x) x (=5) + (=5)% = 16x% + 40x + 25




o el BAZE ABCD O Wels o
A2 P, Q. R, S o Hole] gt 2k o] A X
Mg olgate e s e A 41 L | o
a
et \
\
\
b R S
B

@(a+b)2=a2+2ab—|—b2
@ (a-b)? = a® - 2ab + b>
® (a+b)(a-b)=a® - b?
@ (x+a)(x+b)=x>+(a+b)x+ab

® (ax+b)(cx+d) = acx* + (ad + bc)x + bd

B

HA2kd ABCD ©] Yol (a+ b)? o]t}
P+Q+R+8S = AAE ABCD 9 Holet &t
P=ad? Q=ab, R=ab, S=>5?0|c}.

wetA (a + b)? = a® + 2ab + b O|Th,




7. (2x-aP=4+12x+b LW, a+b & 27D, a, b= 3)

® -12 @ -6 (@)6 @ 12 ® 18

B

(2x)2 —=2x 2xx a+ (-a)? = 4x? — dax + a* °|B2
—4a=12, a=-3

b=a?>=9

a+b=(-3)+9=6




—[4x—2y— {x— (3x+|:|)} +5y]

~{ax-2y- (x=3x-[__J) + 5}
~{4x-2y- (-2x-[_]) + 55}
—(4x -2y + 20+ [ ]+5)
—(6x+3y+[_])
—6x-3y—-[ |

—6x— Ty

2 J=-6x-3y+6x+Ty=4y




& a,b o ot x— {5x-2(x-3y)} =ax+by @ ™, a,b O G
22} Fsfoler,
D a=-2,b=5 @ a=-1,b=6
®a=2b=6 @a:—z,b:—6

®a=2b=-6

€8 ~
x—{b5x—2(x-3y)} =x- (5x—2x + 6y)
= x— (3x + 6y)
=x—3x— 6y
= —2x — 6y
coax + by = —2x — 6y
et g = -2,b = -6




10. o] 4] A of 2. + 3x— 55 Tallo} T 21 B ste] WgEY Hol
8x% — Tx+ 6 7 HIITk, BLEA) AT G-S Tstoler.

@ 5x%2-4x+1 @ 5x% +4x-1 ® X2 +x+4
@7x2—x—4 ® Tx2+x-4

B \

A—(2x2+3x-5)=3x>-Tx+6
A=3x>-Tx+6+2x +3x-5=5x>—4dx+1
SHEE AAE D 5x% —4dx+1+2x2+3x-5

= Tx2—x—4




11.

of® ThaFAlol A 2x- 5y S Hslol & AL Bkl MY Tx— 4y
7 Soiek. ol w, vhA) AL T

@O -7x- 14y @ b5x-2y (@)11x—14y

@ 14x-Ty ® 20x + 4y

B

w418 Az b
A— (2x—=5y) =Tx—4y

A= (Tx—4y) + (2x - 5y) = 9x - 9y

whabA] HE2A] AAFSHE (9x - 9y) + (2x — by) =
11x — 14y o]t}




12.

1
(4xy = x%y = 3xy%) = Sy

= (- By -3n02%) + 2

= (4xy — %y — 3xy?) X —
Xy
=8-2x% -6y
A AL -2,y o AF -6, ST 8
o] & FotH -2-6+8 =10 o[tk
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HolE x
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1m

1m

® x2-3x-4

@ 5x+8

O 222 +x+1

® 2x2-5x+4

@x2+3x—4

X2 +3x-4

(x+4)(x-1)




14.

D x-y? @ 2x-y? ® 3x-»y?

49mR| 9| kol ATt ],
9x2y — 6xy® = 3xyx A
~ 9x?%y - 6xy°

=3x-2y?
3xy e

LA




15. A= a, b, c ol ot (3x+a)(bx+5) = 63> +cx—10 € W, a+b+c
o) g Tl

> E:

> He: 11

(3x + a)(bx + 5) = 3bx* + (15 + ab)x + 5a
3bx% + (15 + ab)x + 5a = 6x> + cx — 10

3b=6 Sob=2

da = —10 Soa=-2
15+ab=c, 154+ (-2)x2=15-4=11
L e=11

Ca+btc=(-2)+2+11=11




16. a=-1,b=29% ), —3a+6b-3(b+ 2a) = A4tsted e},
cCt "

>
> ®E: 15

—-3a + 6b - 3(b + 2a)
= -3a+ 6b—3b—6a =—-9a+ 3b
HAS oA -9x (-1)+3x2=9+6=15




17. x=2,y=-1 <% 1, 2(x* - 3x) - 3x(x +y) + x? o] ZLE 5l
B

>
> " -6

B ~

2(x? - 3x) — 3x(x +y) + x?
= 2x% — 6x — 3x% — 3xy + x°
= —6x — 3xy

L=6x2-3x2x%x(-1)=-124+6=-6
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® a=25-b
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19.

5 S-1
On="L  @u-
pr .
S+1
®n="7 ® =L
r S+p

pr

S =p+pmn
prm=S—-p
S-p

n—=




20. 2a+b ) 3 elA | 4 A o] 2 W]E MR 24+ 135 7} Fk
ol® 4] A & Fa}olat,

rol

3(2a+ b) — 24 = 2a + 13b
2A = 6a + 3b — 2a — 13b
24 = 4a - 10b

. A=2a-5b




